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inti;

int sum=0;

float ave;

for (i=1; i<=10; i++)

{
scanf("%d",&x);

SUM=sum+x;

}

ave=(float)sum/10;
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# FOR-1.C MU).Q #

//This program will take 10 numbers and print their sum and average in the
output.
#include<stdio.h>
#include<conio.h>
void main()
{
inti,num,sum;
float ave;
sum=0;
//************
clrscr();
printf("enter your numbers (10 times):\n");
for(i=1;i<11;i++)
{
scanf("%d",&num);
sum=num-+sum; //sum+=num can also be used.
}
printf("Your sum is: %d",sum);
ave=(float)sum/10;
printf("\nYour average is %f\n", ave);
getch();
}
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s FOR-2.C MU,.Q #

//This program will take some numbers (the user decides how many numbers
to enter) and calculate their sum and average.
#include<stdio.h>
#include<conio.h>
void main()
{
int n;
int i,num,sum;
sum=0;
float ave;
//If compile this program with .C format, the compiler will given an error for
declaring "ave" after assigning a value for "sum".
//This is the mentioned error: "Declaration is not allowed here"
ave=0;
//************
clrscr();
printf ("How many numbers do you want to enter?\n");
scanf("%d",&n);
printf("Enter your numbers (%d times):\n",n );
for(i=1;i<=n;i++)
{
scanf("%d",&num);
sum= num+sum;
}
printf("Your sum is: %d",sum);
ave=(float)sum/n;
printf("\nYour average is %f\n", ave);
getch();
}
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= FOR-3.C MU,.Q #

//This program prints "Multiplication Table" on the screen.
//The program contains a for loop inside another for loop.
#include <stdio.h>

#include <conio.h>

void main()

{

inti,j,x;

i=1;

=1,

// *** The Main Body *** //

clrscr();

printf("This program prints the \"Multiplication Table\" on the screen.\nPress
any key to continue:\n\n");

getch();
for (i=1;i<=10;i++)
{
for (j=1;j<=10;j++)
{
x=i%];
printf("%d\t",x);
}
}
printf("\n");
getch();
}

dleioe Qb (295 1) 0o gt o g il 9l edlazul b aaby ]
ol ox)led jlade O gl sl (Sgpm adls) (ol dils 43959 51y &5 Cosl g0l 4 4l ) Iy,
J &S adls ox5les cdils pl 1> 098 0 (S9)d dils 3yl Aelys Ao ldMy g 395 0 V b il @yl pU T 45" il
Pl (2955 5 dmslome | g 1¥] Cpo ol wils (il a5ye ja 3 g Bbe GBI B o) ol
Yose V- B Yol Cps Jobs Ll ddpe 03 )LL) Sgy0 ddls oS glal adye gl jo plplo 34 oo

Db Ol (295 )



S o0 JW3 1) (2953 Sla gy ol 3 Sas yine w08 sl
(i=1) (Sop s> sl2l Jgl 590

i=1 j=1 i*j=1  i=1 j=2 i*j=2 .. i=1 j=10 i*j=10
(1=2) gy ail> (sl po> 59

i=2 j=1 i*j=2  i=2 j=2 i*j=4 .. i=2 j=10 i*j=20
(i=3) gy 4l gl pgus 590

i=3 j=1 i*j=3  i=3 j=2 i*j=6 .. i=3 j=10 i*j=30

(1=10) 59, adls (gl w23 590

i=10 j=1 i*j=10 =3 j=2 i*j=6 .. i=3 j=10 i*j=30

D92 Wlo 5 Ojgo d dely (295 Coles )

This program prints the "Multiplication Table"” on the screen.
Press any key to continue:
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//Infinite Loop
#include <stdio.h>
void main()

{

int i=0;

for(;;)
{
printf("%d\n",i);
i++;

}

}
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while (4l L)
{
aals &lygiwd
i++;
}
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int sum=0;
scanf("%d",&x);
while (x!=0)

{
scanf("%d",&x);

sum=sum+x;

printf('}'%d",sum);
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int sum=0;
scanf("%d",&x);
do

{

scanf("%d",&x);

sum=sum-+x;
} while (x!=0)

printf("%d",sum);
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# WHILE-1.C MU,.Q #

//This program calculates the square of the given numbers (for 10 numbers)
and add them with each other.
//It can easily be converted to a series that calculates the sum of squares
for natural numbers.
#include <stdio.h>
#include <conio.h>
void main()
{
// *** Variable Declaration ***
int x,i;
long int y,sum;
i=10;
sum=0;
// *** The Main Body ***
clrscr();
printf("This program takes 10 numbers and calculates the square of them.
Each square will be added with the previos ones and the result will be
shown.\n");
while(i) //While(i) means this loop will continue until 'i' reaches 0. In other
word this loop will continue until 'i' is true.
{
printf("\nEnter a number please: ");
scanf("%d",&x);
y=x*x;
sum=sum-+y;
printf("\nThe square of your number is: %d\n",y);
printf("Total Sum = %d\n",sum);
-
}
printf("\n*** This is the end of the program ***");
getch();

}
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# WHILE-2.C MU,.Q #

//This program contains a new command for the Printf function. More
Explanation is given in line 12.
#include <stdio.h>
#include <conio.h>
void main( )
{
//*** Variable Declaration ***
int count=0;
char x,y;
//*** The Main Body ***
clrscr();
printf("This program will count the number of characters in a given
statement.\nNote that the program will continue until you enter \"0\".\n");
//The \" command in the previous line, will print the quotation mark on the
screen.
printf("\nenter your statement please:\n");
while (x!='0'")
{
scanf("%c",&x);
count++;
}
printf("\nThe number of characters in your statement is: %d",count);
getch();
/*
The following lines will check the value of x after the end of the program.
This test shows the function of scanf, while we enter a string instead of a
single character. By entering a string, all the characters will be scanned and
saved in the defined variable respectively (x in this program).
But each time, the scanned character will be replaced by the next character of
the string.
*/
printf("\n\nChecking the value of variable x:\n");
printf("%c",x);
getch();
}
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#IF-1.C sl

//This is a simple program to see the function of if and else command.
//The program takes a number and tells how many digits it has.
#include <stdio.h>
#include <conio.h>
void main()
{
long int x;
x=0;
// *** The Main Body *** //
clrscr();
printf("Enter a number between 0 and 30000 please:\n");
scanf("%d",&x);
if(x>=0 && x<10)
printf("Your number has 1 digit.");
else if(x>=10 && x<100)
printf("Your number has 2 digits.");
else if(x>=100 && x<1000)
printf("Your number has 3 digits.");
else //This else relates to the last written if (if x>=100 && x<1000)
printf("Your number has more than 3 digits.");
getch();

}
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# IF-2.C ol o

//This program counts the number of words and characters with and without
spaces.
//This program contains a new command for the Printf function. More
Explanation is given in line 14.
#include <stdio.h>
#include <conio.h>
void main( )
{
//*** Variable Declaration ***
int count=0;
int word=1;
char x,y;
//*** The Main Body ***
clrscr();
printf("This program will count the number of characters in a given
statement.\nNote that the program will continue until you enter \"0\".\n");
//The \" command in the previous line, will print the quotation mark on the
screen.
printf("\nenter your statement please:\n");
while (x!='0'")
{
scanf("%c",&x);
count++;
if (x==""
{
++word;
}
}
printf("\nThe number of words in your statement is: %d",word);
printf("\nThe number of characters (with spaces) in your statement is:
%d",count);
printf("\nThe number of characters (without spaces) in your statement is:
%d",count-word+1);
getch();
/*
The following lines will check the value of x after the end of the program.
This test shows the function of scanf, while we enter a string instead of a
single character.



By entering a string, all the characters will be scanned and saved in the
defined variable respectively (x in this program).

But each time, the scanned character will be replaced by the next character of
the string.

*/

printf("\n\nChecking the value of variable x:\n");

printf("%c",x);

getch();

}
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# SERIES.C a0l
/*
This program will calculate the following series:
1+(1/2)+(1/4)+(1/8)+(1/16)+...
Also the program contains a new command which determines the number of
digits to be printed in the output in a float variable.
More explanation in line 16
*/
#include <stdio.h>
#include <conio.h>
void main()
{
int count;
int num=6;
//num tells how many terms you want to calculate in this series.
//num can be entered by user by using scanf command.
float sum, x;
clrscr();
for (sum=0, x=1.0, count=1; count<=num; count++, x*=2)
{
sum+=1/x;
printf("sum=%7.4f when count=%d\n", sum, count);
/* %7.4f means the output will contain 6 digits plus '.' (point).
Four of this digits are reserved for the right side of the point.
The other two, will be used before the point.
Example: 46.5676
There are 7 characters in this example: 2 (right side digits) + point + 4
(left side digits)
When we type %7.4f, if the value of our variable contains more digits,
only the first four digits in the right side of the point will be shown.
All of the digits before the point will be shown in the output.
Example: sum=121.123456; By writing printf("%7.4f", sum), 121.1234
will be printed in the output.
*/
}
getch();

}
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% FACT.C a0l o

//This program takes a number and calculate its factorial.
#include <stdio.h>
#include <conio.h>
void main()
{
int n;
inti;
int x=1;
// *** The Main Body *** //
clrscr();
printf("Enter a number please, the program will give back its factorial.\n");
scanf("%d",&n);
if(n==0) //There is no 0! so the program gives back an error message
{
printf("0! : error");
goto end;
}
for(i=1; i<=n; i++)
{
X=i*x;
}
printf("%d! = %d",n,x);
end: getch();
}
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while (1)
{
x=getche();
if (x=="#')
{
printf("\n---The program will end now---");
break;
}
getch();
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while (x!="#')
{
x=getche();
if (x=="")
continue;
count++;

}
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if (i<n)
{
sum+=num;
i++;
printf("%d\n",i);
}

printf("final sum = %d",sum);
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void main()

{

int x;
chary;
x=0;
y=getch();
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